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carrying two (02) marks. All the guestions ure co

1. DNA fingerprinting uses a specific
type of DNA sequence, known as :

(A) Palindromic sequence
(B)” Microsatellite DNA
(C) Chimeric DNA

(D) CDNA.

.. Which of the following statements
regarding enzyme inhibition 18
correct ?

(A) Non-competitive inhibition
of an enzyme can be

overcome by adding large
‘amount of substrate

\[]?/ Competitive inhibition is

seen when the substrate
and the inhibitor compete
for the active site on the
enzyme

(C) Non-competitive inhibitors
often bind to the enzyme
irreversibly

(D) Competitive inhibition is
seen when a substrate
competes with an enzyme
for binding to as inhibitor
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stions, each question
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3. Which of the following 1%

correct in DNA 7

A forms 2 hydrogen bonds
«ih% a; T forms 3
hydrogen bonds with €

(A)

(B) A forms 3 hydrogen bonds

with T; G Jorms 2
hydrogen bonds with C

A forms 2 covalent bonds

with T: G forms 9 covalent

(€)

bonds with C

Dy " A forms 2 hydrogen bonds
with T- G forms S

hydrogen bonds with C

4. When cancer cells gain the

ability to move independently

and invade other Tissucs, the

are said to have:

(A) Evolved



Which one of the following is

5. mﬂi:‘ of the following g
e _ ;
referred to as 'a;:uﬂ:t.:::::::h WI . :‘E hﬂtgcj‘!ff:]-
(Ay” Allopatric species relationships of plants?
(B) Sympatric species (A} Cytotaxonomy
(C) r-selected specics (B} Experimental Taxonomy
[C} Numerical Taxonony
(D) K-selected specics . (D} Chemotaxonomy
6. The hormones sccreted by the 10. Discovery of new Specks has
hypothalamus in the region of recently pu:‘jc.::l up due w0
median eminence are carned initiatives under the pxrtctr-"
to adenchypophysis by which <
one of the following ? (a) Species 2000
by Global diversity and
(A) Hypophyseal stalk information facility
(B physeal portal system {c) Agenda 21
€) Pituitary atall (dy Chmate change.
(D) Neurohypophysis .@ul/ {a) and (b)
7. The major type of bond between ()
antigen and antibody is (C) (@), (b, and [c)
(A) Hyd = band (D) All of the above
(B) Covalent 11. The chromosomal palierm of
\[.9/ Hydrophobic interactions Klinefelter's syndrome 13
(D) van der Waals force. (A) XXX
8. The molecular weight of a v
protein molecule is 14.4 kDa, (C) XO
what would be the minimum
number of aucleotides in the (D) XYY
NA from where this protemn
8 grnthems:d? %ssumﬂ that 12. The major amino acids n
the molecular weight of each histone
amino acid of the protein is
80 Da Arginine, Lysine and
Histidine
. () 60 (B) Glutamate and Aspartc
 (B) 180 acid
fi‘, cf 240 - (C) Lysine and Arginine
‘(D) 540 ' . (D) Histidine
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8. 1o which ype of cells of uman
miitochondna are abaent P

Al Liver Cells

() Beain Cells
() Exthrooytes
(1) Osteoblasts

14, Ecocline is

(A} transient region between
S~ o adjacent communities

(B) transient region between
two adjacent species

{C) transient region between
two adjacent ecolypes

(D) transient region between
two adjacent forest

(A) Primed by RNA primer
m wmwﬁi‘xdﬂ'ﬂﬂuﬂ
(C) United to form laggng strand
g'.ﬁﬂﬂl'mc above

16. You are given 17 meiotic- cell
divisions. With these divisions
how many sceds are possible ?
How many Iﬂul:ﬂ gra'mg will be
wasted ?

Ay 17 seeds and 3 pollen
grains

mlal{:nhlmn-lmth
A m,mum‘u and select the o
gorrect using codes -
Column-1 Column-il
l 1 mpholphnry:mmn ';"
it l ' of Cdk 1 | o
1 2. Phosphorylation of
(b) suc s
(c)um | 3. Negative control of
wee 1
4. Converls M form of
B cdk-1 10 S form
Codes : (8 @ @
@/l RS L 4 o O
® 3 1 4 2
< 2 E 3 1
D) 4 3 2 1
18. Match the items of Column-l
with those of Column-il and
select the correct match using
codes :
Column-1 Column-I1
(a) HPM shunt 1. Inner ‘
- mitochondnal
membranc
(b) Russell bodies 2. Initiates
respiratory
burst in
phagocytc
neutrophils
(¢) Cytochromes 3. Stimulates
6-phosphatase
(d) Glucagon 4. Plasma cells
Codes: (@ () (©
1 3 4
4 2 1
4" 1 3
2 3 1



19. Match the items of Column-1 with
those of Column-1l and select the
correct match using codes |

Column-1 Column-II
ja) white blood cells 1. Thymus gland
{bj body cclls in 2, Macrophages

which viruses are
reproducmg are
defended by
{o} anaphylaxis 3. Cytotoxic T cells

id} maturation of T cells 4. Bee sting
Codes : (a) (b (c) )

(A) 1 2 4 3
(B) 3 4 1 2
(C) 4 1 3 2

2 3 4 1

o
20. Match the items of Calumn-I with
those of Column-Il and gelect the

Lot -
Lo TR TR

a1. Mawch the fromn i t".rﬂumﬂ-l
with those ol Column i anil
{ correct paakeh by Vi

B oo
the coden glven Vit b
Column-I Column-il
{n} Homopolyirer ol 1, Peptice el
phienylalaning frmation

(b Pephidyl irapslerane 2 Hemovil ol
(N As Trom e

[T

milcules

(¢) Aminoacy! LRNA 1. Polymerone 1

gynthetase
4. Amino ey

(d) Ribonuclease ¥
o mehvaton

Codes ; [(u) (b ) ()
THRR SRR o
1) - AR 7
45) 3 3 4 \
D) 3 A 2 |

22. Match the Hems of Column 1 with

those ol Column-ll and select the
correct mateh using codes !
Column-1l
1. Ribosomes
2. Lipid storage

3. Lysosomes

Column-I

(@) Acid hydrolases
(b) Protein factory
(c) Elaioplasts

(d) Photorespiration

@ @® © @

4. Peroxisomes

correct match using codes
Column-I Column-II
(a) epigenetic |, participates in acuve
transcription of DNA
to mRNA
(b} euchromatin 2. when molecule
’ relieves helical
\ gtress by twisting
around tsell
{c} supercoiling 3. severe reduction i
| population size
(d) bottleneck 4. signal for formation
of a regional
cenlromere appears
to be
Codes: (@ (B (© @
' P o < 3K
1 2. 13
2 1 4x
gomssrg ok

Codes :
TN, TR
g B) A 1 3 2
M § PR, A
7 ST R
P.T.0.









reticulum, Golgi compilex,
lysosomes and vacuoles.
Reason (R) : Mitochondria,
chloroplast and peroxisomes
are not the part of
endomembrane system
because their functions are
not coordinated with the

same.

Codes :

J(U/. th (Ass) and (R) are truec

d (R} 1s ¢ correct
lanation of [Ass)

(B) Both [Ass) and (R} are true
but (R) is not the correct
explanation of (Ass)

(C) (Ass) is true but (R) is false

D) Both (Ass) and (R} are false

Ba
fan
exp

32. Two statements are given below,
one is Assertion (Ass) and the

other is Reason (R). Select the
correct answer from the codes
given below :

Assertion (Ass) : Viruses are
not included in any
system of classification.

Reason (R) : Viruses are
nonliving but develop
living characters  like
multiplication etc. when
they come in contact with

suitable host.

Codes :

(A] Both [Ass) and (R) are true
and (R) is the correct
‘xplanation of (Ass)

) /Both (Ass) and (R) are true
; but (R} is not the correct
olanation of (Ass)

(O) [Ass) is true but (R) is false
- (D) Both (Ass) and (R} are false

for the
33, Select uﬂ':‘“"‘ s using codes
ate in the peimtve carth
[ “E“‘m:itﬂll -dupllﬁ'ﬂ"“l agETeRates
of : surrounded by liped
motecules

(i} First Wing OTRATISITIE worr
hﬂmﬂmph:
(s Reproductive isolation does
L pot let evolution 10 ooCur
ation bnings

(i) Reproductive 180l

about sympatric speciation
Codes : (1) () iy W)
(A) False True Faisc False

(B) False True True False

Iplnty_- False False True
(D) False True False True

34. Select the correct answer from the
following statements Using codes

{1) Plasmodesmata connect actin
fibres of onec cell o the
extracellular matnx of another

() An individual with two
g normal sets of autosomes
% ! and a single X-chromosome
‘ Turner's syndrame
(iii) Zinc is a co-factor for the
proteolytic enZVme
carboxypeptidase
(ivy Mutatons resulting 10
addition or deletion of a base
within a ﬁﬂﬂ ame &E‘mﬁhﬂl
mutation
Codes : (i) () () (¥
(A) False True True True
(B) Pfue True True False

True False False, True
{DT:WH'M False True

£\
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47. The ray florets in Asternceac
famnily are characterized by the

presence of —

(A)/ Unisexual, female OF

~" npeuter, zygomorphic
epigynous flowers whose
sepals are modified into
pappus

(B} Unisexual female oOF
pneuter, actinomorphic,
hypogynous flowers
without modified sepals

(C) Bisexual, gygomorphic
hypogynous Oowers with
sepals modified into

pappus
Bisexual, actionomorphic,

(D)
epigynous flowers with
modified sepals into
pappus

48. Which one of the following is

the correct sequence of flow of
electrons in the photochemical

reaction of photosynthesis?

MS-H. plastoguinone,
cytochromes, ps-1 and
ferredoxin

(B) PS-I, plastoguinone,
cytochromes, pPs-11 and

ferredoxin

(C) PS-l, ferredoxin and PS-1I

(D) PS-1, plastoquinone,

wﬂmﬂ'w‘t s By .--._ B
ﬂft-h: . ; er ? l' _J,' 5.
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Initiation of transcription

@) Inigation of transiation

Memuvni of introns
(D) Termination of
transcription

The end point of succession can
be determined by:
(A) ecesic causes
[B) biotic causes
cy edaphic J

climatic causcs

S1l.

East India is contaminated with

some 1oxic compoun

of the following organisms are

ass to be most affected ?

(€)

cytochromes, PS-11 and
ferredoxin
Paper-1I / LSc

(D) Water birds
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